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Sample Paper, 2012-13

Subject: Computer Science 
Class 12th 

Time: 3 Hours






      Max. Marks: 70

Instructions:
i) All questions are compulsory and so attempt all.

ii) Programming language: C++.
iii) Please check that this question paper contains 7 questions in 7 pages.
iv) Please write down the complete serial number of the question before attempting it.

1). (a) What does Overloaded function mean? Write its significance in context of C++.
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(b) Name the header file required for successful compilation of the given code:
1                             

    
int main( )


{
char str[20];



cout<<fabs(-34.776);



cout<<“\n Enter a string:”;



cin.getline(str,20);



return 0; 
}

(c). Rewrite the following program after removing all the syntactical errors underlining each correction also.(if any):







2 

#include<iostream.h>

Struct NUM
{ 
int x=10;

float y;

}A, *p;

void main( )

{ 
p=A;

cout<<\nInput Integer:;

cin>>A.x;

cout<<“\nInput any number:”;

cin<<y.A;

}
(d) Write the output of the following program segment:


 

3
       
#include<iostream.h>

void main()

     
{  
int A[]={12,18,20, 35,40};

int *p=A;

while(*p<30)

{

if(*p%3!=0)

*p=*p+5;

else

*p=*p+2;

p++;

}

for(int j=0;j<=4;j++)

{

cout<<A[j]<<"*";

if(j%3==0)

cout<<endl;

}

cout<<A[4]*3<<endl;

}
(e). Write the output of the following program segment: 
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#include<iostream.h>








#include<ctype.h>

void Encode(char Info[ ],int N);

void main( )

{
char memo[ ]=”Justnow”;

Encode(memo, 2);

cout<<memo<<endl;

}

void Encode(char Info[ ],int N)

{
for(int I=0;Info[I] != ‘\0’;I++)

{
if(I % 2 = = 0)

Info[I]= Info[I] – N;

else if (islower(Info[I]))

Info[I] = toupper (Info[I]);

else 

Info[I] = Info[I] + N;

}

}

(f) In the following program, find the correct possible output(s) from the options:
2
#include<iostream.h>

#include<stdlib.h>

void main( )

{
randomize( );

int p=99,q=999;

int x=random(3)+4;

int y=random(2)+2;

for(int i=0;i<x;i++)

cout<<”#”;

cout<<p<<’-’;

for(i=0;i<y;i++)

cout<<”@”;

cout<<q<<endl;

}

i) ##99-@999

ii) ##99-@@999

iii) ######99-@@999

iv) ####99-@@999

2. (a) Differentiate between Private and Protected members of class in context of inheritance using C++.
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(b). Define a class Society with the following specifications.
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Data members : 
Private Members :

society_name char (30)

house_no integer

no_of_members integer

flat char(10)

income float

Member Functions:

Public members:

A constructer to assign initial values of society_name as “Mahavir Nagar”, flat as “A Type”, house_no as 56, no_of_members as 6, income as 50000.
input( ) – to read data members.

alloc_flat( ) – To allocate flat according to income

income >=500000 - Flat “ A Type”

income >=250000 and income <500000 - Flat “B Type”

income <250000 - Flat “ C Type”

show( ) – to display all details.
(c)  Consider the following declarations and answer the questions given below:
4
         class engineering

        {             
char streamcode[5];

  

protected:




int seats;




void allot();

            
public:


             
engineering( );

                          
void streamread();

                           
void streamwrite();

           };

          class dept : protected engineering

           {      

char deptname[20];

                   

int strength;

      

public: 




dept();

                       
void deptread();




void deptwrite();


};


class course: public dept


{

char coursename[20];




float fees;



public:




course();




void courseread();




void coursewrite();

};

(i) Which type of inheritance is shown in the above example?

(ii) How many bytes will be required by an object of the class course?

(iii) Write the name of all the data members accessible from member functions of the class dept.

(iv) Write the members which are accessible from the object of the class course.

(d). Answer the questions (i) and (ii) after going through the following class.
2
    
class Factory

    
{ private:

     

char Name[30];

     

int worker;

      
public:

     
 
Factory( )                                                    

 //function 1

    
 
{
 strcpy(Name,”Blank”);

        


worker=0; }

     

 void Details( )                                             

//function 2

      

{ 
cout<<Name<<endl<<worker<<endl; }

       

Factory(char *Fact_name, int No);           

//function 3

       

Factory(Factory &F);                                

// function 4

     
};

i). In OOP, what is function 4 referred as? Also write its complete definition?

ii). In OOP, which concept is illustrated by function 1, function 3 & function 4 together? Also write a statement which will invoke function 3?

(3). (a) An array MAT[20][12] is stored in the memory column wise with each element occupying 2 bytes of memory. Find out the address of element MAT[15][10] , if the location of MAT[2][4] is stored at the address 1000.
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(b). Write function in C++ which accepts an integer array and size as arguments and assign values into a 2D array of integers in the following format:


3
If the array is 1, 2, 3, 4, 5, 6

The resultant 2D array is given below

1      2      3      4      5      6

1      2      3      4      5      0

1      2      3      4      0      0

1      2      3      0      0      0

1      2      0      0      0      0

1      0      0      0      0      0

If the array is 1, 2, 3

The resultant 2D array is given:

1      2      3

1      2      0

1      0      0
(c)  Write a function in C++ to find the sum of diagonal elements from a 2D array of type float. Use the array and its size as parameters with float as its return type.
2
(d) Write a function to perform PUSH operation  in a dynamically allocated stack containing name and registration number of students. Also declare the relevant structure/class and pointers. 
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(e)  Write the equivalent postfix notation for the following:



2
                A – B + C * D ^ E * G / H
(4). (a) Observe the program segment given below carefully and fill the blanks marked as Statement 1 and Statement 2 using seekp() and seekg() functions for performing the required task. 







1
 
#include <fstream.h>

class Item

{
int Ino; char Item[20];

public:

//Function to search and display the content from a particular //record number  

void Search(int ); 

//Function to modify the content of a particular record number 

void Modify(int);
};
void Item::Search(int RecNo)

{
fstream File;


File.open(“STOCK.DAT”,ios::binary|ios::in);


______________________ 



//Statement 1


File.read((char*)this,sizeof(Item));


cout<<Ino<<”==>”<<Item<<endl;


File.close();

}
void Item::Modify(int RecNo)

{
fstream File;


File.open(“STOCK.DAT”,ios::binary|ios::in|ios::out);


cout>>Ino;cin.getline(Item,20);



______________________ 



//Statement 2


File.write((char*)this,sizeof(Item));


File.close();

}

(b) Write a function in C++ to count the number of spaces/blanks present in a text file “TOUR.TXT”.
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(c). Given a binary file SCHOOL.DAT, containing records of the following structure type.











3
struct School

{ 
char schoolname [20];

char teachernames [10] [30]; 
};

Write a function in C++ that would read contents from the file SCHOOL.DAT and creates a file named CBSE.DAT copying only those records from SCHOOL.DAT where the school name is “KVHLD”

(5). (a) What do you understand by term DOMAIN and Degree of a relation?
2
(b). Consider the following tables CUSTOMER and MOBILE. Write SQL commands for the statements (i) to (iv) and give outputs for SQL queries (v) to (viii).

6
TABLE : CUSTOMER
	ID
	Cname 
	Activation_date
	Validity

(in days)
	Amount
	Connection 

	101
	Preeti 
	04-Jun-09 
	365
	330
	Hutch 

	102
	Sumit
	12-Feb-08
	60
	180
	Airtel 

	103
	Aamir 
	14-May-09
	180
	250
	Aircel 

	104
	Mukul
	30-Jan-08
	30
	100
	BSNL 

	105
	Ambani
	08-Mar-07
	365
	310
	Reliance 

	106
	Rani
	02-Apr-09
	90
	210
	Airtel

	107
	Vijay
	12-Sep-09
	60
	150
	BSNL


              TABLE : MOBILE 


	ID
	Make
	Model_No

	101
	Nokia 
	N76

	102
	LG
	RD3500

	104
	Nokia
	E61

	105
	Sony 
	K310i

	107
	Motorola
	W756i


(i) To display the records of those customer who take the connection of BSNL or Airtel in ascending order of Activation date.
(ii) To decrease the amount of all customers of Reliance connection by 500. 

(iii) Create a view called ITSECTOR, which contains Cname, Validity and Connection from CUSTOMER table whose Activation date is after 14-May-09.   

(iv) To display the ID and Cname from table Customer and Make from table Mobile, with their corresponding matching ID. 

(v) select Cname , Make form Customer, Mobile where Customer.ID = Mobile.ID;  

(vi)    select  Connection , sum(Amount) from Customer group by Connection ; 

(vii)    SELECT COUNT(DISTINCT Make) FROM Mobile;  .

(viii)   SELECT AVG(Amount) FROM Customer where Validity >= 180; 

(6). (a) State and verify Distributive law algebraically.
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(b) Write the equivalent Boolean expression for the following logic circuit:

2
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(c) Write the equivalent POS expression of following  SOP form.


1
      F (x,y,z)= ∑ (0,2,4,6) 

(d) Reduce the following Boolean expression using K-map.



3
F(A,B,C,D)= ((0,1,2,4,5,6,8,10)

(7). (a) What is a Gateway?
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(b) Expand the following terminologies with respect to Networking:


1

i) ARPANET 
ii) W3C.
(c) Give one advantage of GSM mobile technology?




1
(d) Differentiate between freeware and shareware.? 




1
(e) What is cyber law?








1
(f) What do you understand by the term Cookies?




1
(g) Global Village Enterprises has following four buildings in Hyderabad city.
4 



 


70 mts

               [35]
        GV1                                                          GV2
   [80]




115 mts


30 mts



20 mts                            

25 mts


                       


        GV4                                                                           GV3

[60]


[25]


           Shows Distance


[   ]
Shows Number of Computer

Computers in each building are networked but buildings are not networked so far. The company has now decided to connect building also.

(i) Suggest a topology and its cable layout for these buildings.
(ii) The company also wants to make available shared Internet access for each of the buildings. How can this be achieved?
(iii) Which of the following communication media, will you suggest to be procured by the company for connecting their local offices in Hyderabad for very effective and fast Communication?

- Ethernet Cable

- Optical Fiber

- Telephone Cable
(iv) The company wants to link its headoffice in GV2 building to its another office in Japan.

(a) Which type of transmission medium is appropriate for such a link?

(b) What type of network would this connection result into?

All the Best for Board Exam- 2013.
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